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Präsenzaufgabe 33. Let p be an odd prime. Show: Every primitive root
modulo p is a quadratic nonresidue modulo p.

Präsenzaufgabe 34. Let p be an odd prime. Show: If a is a quadratic
residue modulo p and b is inverse to a modulo p, i.e., ab ≡ 1 (mod p), then b

is a quadratic residue modulo p.

Präsenzaufgabe 35. Show:

(a) If p and q = 10p+ 3 are odd primes, then (p
q
) = (3

p
).

(b) If p and q = 10p+ 1 are odd primes, then (p
q
) = (−1

p
).

Präsenzaufgabe 36. Calculate the Legendre symbol (a
p
) for the twelve

combinations of a = −1, 2,−2, 3 and p = 11, 13, 17.


